



Some Properties of Generalized Jacobsthal-Like Sequences

Genelleştirilmiş Jacobsthal-Benzeri Dizilerin Bazı Özellikleri

Can Murat Dikmen , Kübra Karataş Selam*

Zonguldak Bülent Ecevit University, Faculty of Science, Department of Mathematics, Zonguldak, Türkiye

Abstract

In this article, using Jacobsthal and Jacobsthal-Lucas sequences, we define generalized Jacobsthal-Like sequences and investigate their algebraic properties like Binet's formula, generating functions, Simson formula and summation formula. We also prove some other summation formulas like sum of even and odd indices and alternating sum of generalized Jacobsthal-Like sequences.

Keywords: Generalized Jacobsthal-Like sequences, Jacobsthal sequence, Jacobsthal-Lucas sequences.

Öz

Bu makalede Jacobsthal ve Jacobsthal-Lucas dizilerini kullanarak genelleştirilmiş Jacobsthal-Benzeri dizilerini tanımlayıp Binet formülü, üreten fonksiyonlar, Simson formülü ve toplam formülü gibi cebirsel özelliklerini araştırıyoruz. Ayrıca çift ve tek indekslerin toplamı ve genelleştirilmiş Jacobsthal-Benzeri dizilerinin alterne toplamı gibi diğer toplama formüllerini de kanıtıyoruz.

Anahtar Kelimeler: Genelleştirilmiş Jacobsthal-benzeri diziler, Jacobsthal dizisi, Jacobsthal-Lucas dizileri.

1. Introduction

For many years, extensive studies have been conducted on generalized Fibonacci-Like sequences, exploring both their characteristics and preliminary results. (Harne et al. 2014, Gupta et al. 2014, Singh et al. 2014). Using these studies on generalized Fibonacci-Like sequences, we can extend these studies to the generalized Jacobsthal-Like and other interesting sequences in a similar fashion.

Every term in the Jacobsthal sequence can be determined recursively with the initial values $J_0=0, J_1=1$. Similar is the case with Jacobsthal-Lucas sequence. See (Horadam 1996). The definitions of Jacobsthal-Like sequences associated with Jacobsthal and Jacobsthal-Lucas sequences can be found in the papers (Natividad 2016, Pakapongpun 2020).

The sequence of Jacobsthal numbers $\{J_n\}$ is defined by

$$J_n = J_{n-1} + 2J_{n-2}, \quad n \geq 2, \quad J_0 = 0, J_1 = 1. \quad (1)$$

The sequence of Jacobsthal-Lucas numbers $\{J_n\}$ is defined by

$$j_n = j_{n-1} + 2j_{n-2}, \quad n \geq 2, \quad j_0 = 2, j_1 = 1. \quad (2)$$

The Binet's formula for Jacobsthal sequence is given by

$$J_n = \frac{\alpha^n - \beta^n}{\alpha - \beta} = \frac{1}{3}[(2^n - (-1)^n)] \quad (3)$$

where $\alpha = 2$ and $\beta = -1$.

Similarly, the Binet's formula for Jacobsthal-Lucas sequence is given by

$$j_n = \alpha^n + \beta^n = 2^n + (-1)^n. \quad (4)$$

In this paper, we present various properties of the generalized Jacobsthal-Like sequence defined by

$$V_n = V_{n-1} + 2V_{n-2}, \quad n \geq 2 \quad (5)$$

with $V_0 = 2$ and $V_1 = 1 + m$, m being a fixed positive integer.

Here the initial conditions V_0 and V_1 are the sum of m times the initial conditions of Jacobsthal sequence and the initial conditions of Jacobsthal-Lucas sequence respectively.

*Corresponding author: kubra.kratas@gmail.com

Can Murat Dikmen orcid.org/0000-0002-1837-1139

Kübra Karataş Selam orcid.org/0000-0002-6490-440X



The relation between Jacobsthal sequence and generalized Jacobsthal-Like sequence can be written as

$$V_n = mJ_n + j_n, \quad n \geq 0. \tag{6}$$

Then, the terms of the sequence $\{V_n\}$ are given by $\{V_n\} = \{2, 1 + m, 5 + m, 7 + 3m, 17 + 5m, 31 + 11m, \dots\}$.

2. Preliminary results of Generalized Jacobsthal-Like sequence

The first, we introduce some basic results of generalized Jacobsthal-Like sequence and Jacobsthal sequence.

The corresponding characteristic equation of relation (1) is $x^2 - x - 2 = 0$ and its roots are $\alpha = 2$ and $\beta = -1$. (7)

Using these two roots, we obtain Binet’s formula of recurrence relation (5)

$$\begin{aligned} V_n &= \frac{m}{3}(\alpha^n - \beta^n) + (\alpha^n + \beta^n) \\ &= \frac{m}{3}(2^n - (-1)^n) + (2^n + (-1)^n). \end{aligned}$$

Generating function of $\{V_n\}$ is defined as

$$\sum_{k=0}^{\infty} V_k x^k = \frac{2 + (m-1)x}{1 - x - 2x^2}. \tag{8}$$

3. Properties of Generalized Jacobsthal-Like sequence

Of the generalized Jacobsthal-Like sequence $\{V_n\}$, like generalized Fibonacci-Like sequences have many interesting properties (Benjamin and Quinn 1999, Lee and Z. Lee 1987, Badshah et al. 2012, Harne et al. 2014, Singh et al. 2010, Soykan et al. 2018, Soykan and Göcen 2022).

Sums of generalized Jacobsthal-Like terms can be given in the following theorems.

Theorem 1. Sum of the first terms of the generalized Jacobsthal-Like sequence $\{V_n\}$ is

$$V_1 + V_2 + V_3 + \dots + V_n = \sum_{k=1}^n V_k = \frac{V_{n+2} - V_2}{2}. \tag{9}$$

This identity becomes

$$V_1 + V_2 + V_3 + \dots + V_{2n} = \sum_{k=1}^{2n} V_k = \frac{V_{2n+2} - V_2}{2}. \tag{10}$$

Proof. We know that the following relations hold:

$$\begin{aligned} 2V_1 &= V_3 - V_2, \\ 2V_2 &= V_4 - V_3, \\ 2V_3 &= V_5 - V_4, \end{aligned}$$

$$\begin{aligned} &\vdots \\ 2V_{n-1} &= V_{n+1} - V_n, \\ 2V_n &= V_{n+2} - V_{n+1}. \end{aligned}$$

Term wise addition of all above equations, we obtain

$$\begin{aligned} 2(V_1 + V_2 + V_3 + \dots + V_n) &= V_{n+2} - V_2, \\ V_1 + V_2 + V_3 + \dots + V_n &= \frac{V_{n+2} - V_2}{2}. \end{aligned}$$

Theorem 2. Sum of the first terms of the generalized Jacobsthal-Like sequence $\{V_n\}$ is

$$V_1 + V_2 + V_3 + \dots + V_{2n} = V_{2n+1} - V_1.$$

Proof.

$$\begin{aligned} V_2 &= V_3 - 2V_1, \\ V_4 &= V_5 - 2V_3, \\ V_6 &= V_7 - 2V_5, \\ &\vdots \\ V_{2n-2} &= V_{2n-1} - 2V_{2n-3}, \\ V_{2n} &= V_{2n+1} - 2V_{2n-1}. \end{aligned}$$

Term wise addition of all above equations, we obtain

$$\begin{aligned} V_2 + V_4 + V_6 + \dots + V_{2n} &= \\ -(V_1 + V_3 + \dots + V_{2n-1}) + V_{2n+1} - V_1. \end{aligned} \tag{12}$$

Adding odd indices to the both sides of the equation, we have

$$V_1 + V_2 + V_3 + \dots + V_{2n} = V_{2n+1} - V_1.$$

Theorem 3. Sum of the first $2n - 1$ terms of the generalized Jacobsthal-Like sequence $\{V_n\}$ is

$$V_0 + V_1 + V_2 + V_3 + \dots + V_{2n-1} = V_{2n} - V_0. \tag{13}$$

Proof.

$$\begin{aligned} V_1 &= V_2 - 2V_0, \\ V_3 &= V_4 - 2V_2, \\ V_5 &= V_6 - 2V_4, \\ &\vdots \\ V_{2n-3} &= V_{2n-2} - 2V_{2n-4}, \\ V_{2n-1} &= V_{2n} - 2V_{2n-2}. \end{aligned}$$

Term wise addition of all above equations, we obtain

$$\begin{aligned} V_1 + V_3 + V_5 + \dots + V_{2n-1} &= -(V_0 + V_2 + \dots + V_{2n-2}) + V_{2n} - V_0, \\ V_0 + V_1 + V_2 + V_3 + \dots + V_{2n-1} &= V_{2n} - V_0. \end{aligned}$$

We state and prove the following identity for the generalized Jacobsthal-Like sequence $\{V_n\}$

Lemma 4. For every positive integer , we have

$$2V_{2n} - V_{2n+1} = 3 - m. \tag{14}$$

Proof. Combining (10) and (11) and putting $V_1 = 1 + m, V_2 = 5 + m$, we obtain

$$\begin{aligned} V_1 + V_2 + V_3 + \dots + V_{2n} &= \sum_{k=1}^{2n} V_k = \frac{V_{2n+2} - (5 + m)}{2} \\ &= V_{2n+1} - (1 + m), \\ V_{2n+2} - (5 + m) &= 2V_{2n+1} - 2(1 + m), \\ V_{2n+2} - 2V_{2n+1} &= 3 - m, \\ V_{2n+1} + 2V_{2n} - 2V_{2n+1} &= 3 - m, \\ 2V_{2n} - V_{2n+1} &= 3 - m. \end{aligned}$$

Theorem 5. Sum of the first $(n + 1)$ terms of the generalized Jacobsthal-Like sequence $\{V_n\}$ with odd and even indices are

$$V_1 + V_3 + V_5 + \dots + V_{2n+1} = \frac{2V_{2n+2} - (n + 1)(3 - m) - 4}{3}, \tag{15}$$

and

$$V_0 + V_2 + V_4 + \dots + V_{2n} = \frac{V_{2n+2} + (n + 1)(3 - m) - 2}{3} \tag{16}$$

respectively.

Proof.

Using (13),

$$V_0 + V_1 + V_2 + \dots + V_{2n} + V_{2n+1} = V_{2n+2} - 2.$$

$$\text{For } V_0 + V_2 + V_4 + \dots + V_{2n-2} + V_{2n} = X,$$

$$V_1 + V_3 + V_5 + \dots + V_{2n-1} + V_{2n+1} = Y$$

$$X + Y = V_{2n+2} - 2. \tag{17}$$

Using (14),

$$\begin{aligned} \sum_{k=0}^n (2V_{2k} - V_{2k+1}) &= \sum_{k=0}^n (3 - m), \\ 2\sum_{k=0}^n V_{2k} - \sum_{k=0}^n V_{2k+1} &= (n + 1)(3 - m), \\ 2X - Y &= (n + 1)(3 - m). \end{aligned} \tag{18}$$

Using (17) and (18) we get

$$\begin{aligned} V_0 + V_2 + V_4 + \dots + V_{2n} &= \frac{V_{2n+2} + (n + 1)(3 - m) - 2}{3}, \\ V_1 + V_3 + V_5 + \dots + V_{2n+1} &= \frac{2V_{2n+2} - (n + 1)(3 - m) - 4}{3}. \end{aligned}$$

From the above theorem we can calculate the alternating sum of the first n numbers.

Corollary 6. The alternating sum of the first n numbers of the of the generalized Jacobsthal-Like sequence $\{V_n\}$ yazılabilir.

$$\begin{aligned} V_0 - V_1 + V_2 - V_3 + V_4 - V_5 + \dots + (-1)^n V_n \\ = \frac{(-1)^n V_{n+1} + (n + 1)(3 - m) + 2}{3}. \end{aligned} \tag{19}$$

Proof. If we subtract equation (15) term wise from equation (16), we get alternating sum of the first $2n+1$ numbers:

$$\begin{aligned} V_0 + V_1 + V_2 - V_3 + V_4 - V_5 + \dots + V_{2n} - V_{2n+1} \\ = \frac{V_{2n+2} + 5n + 1)(3 - m) - 2}{3} - \frac{2V_{2n+2} - (n + 1)(3 - m) - 4}{3} \\ = \frac{-V_{2n+2} + 2(n + 1)(3 - m) + 2}{3}. \end{aligned}$$

If we want to calculate the alternating sum of the first n numbers from the above equation, substituting $2n+1$ by n we get the following result

$$\begin{aligned} V_0 - V_1 + V_2 - V_3 + V_4 - V_5 + \dots + (-1)^n V_n \\ = \frac{(-1)^n V_{n+1} + (n + 1)(3 - m) + 2}{3}. \end{aligned}$$

Now, some identities for the generalized Jacobsthal-Like sequence $\{V_n\}$ are stated and proven below.

Theorem 7. For every integer $n \geq 0$, for each real coefficient m ,

$$mV_{n+2} - mV_{n+1} = 2mV_n. \tag{20}$$

Proof.

$$m(V_{n+2} - V_{n+1}) = m(2V_n) = 2mV_n.$$

Theorem 8. For every integer $n \geq 1$, we have

$$V_n^2 = V_n V_{n+1} - 2V_{n-1} V_n. \tag{21}$$

Proof.

$$V_n V_{n+1} - 2V_{n-1} V_n = V_n(V_{n+1} - 2V_{n-1}) = V_n^2.$$

Theorem 9. (Simson formula) For every integer $n \geq 1$ we have

$$V_{n+1} V_{n-1} - V_n^2 = (-1)^{n+1} 2^{n-1} (9 - m^2). \tag{22}$$

Proof.

We shall use mathematical induction over n .

It is easy to see that for $n = 1$,

$$V_2 V_0 - V_1^2 = (-1)^2 2^0 (9 - m^2)$$

$$2(5 + m) - (1 + m)^2 = (9 - m^2), \text{ which is true.}$$

Assume that the result is true for $n = k$. Then

$$V_{k+1} V_{k-1} - V_k^2 = (-1)^{k+1} 2^{k-1} (9 - m^2). \tag{23}$$

Multiplying by 2 and adding $V_k V_{k+1}$ to each side of equation (23), we get

$$\begin{aligned} 2V_{k+1}V_{k-1} - 2V_k^2 + V_k V_{k+1} &= (-1)^{k+1} 2^k (9 - m^2) + V_k V_{k+1}, \\ V_{k+1}(2V_{k-1} + V_k) - V_k(2V_k + V_{k+1}) &= (-1)^{k+1} 2^k (9 - m^2), \\ V_{k+1}^2 - V_k V_{k+2} &= (-1)^{k+1} 2^k (9 - m^2), \\ -(V_k V_{k+2} - V_{k+1}^2) &= (-1)^{k+1} 2^k (9 - m^2), \\ V_{k+2}V_k - V_{k+1}^2 &= (-1)^{k+2} 2^k (9 - m^2). \end{aligned}$$

Therefore, the result is also true for $n = k + 1$.

Hence, $V_{n+1}V_{n-1} - V_n^2 = (-1)^{n+1} 2^{n-1} (9 - m^2)$, for every $n \geq 1$

Theorem 10 For every positive integer n ,

$$V_3 + V_6 + V_9 + \dots + V_{3n} = \begin{cases} \frac{1}{7}(V_{3n+3} - 16), & \text{if } n \text{ is odd} \\ \frac{1}{7}(V_{3n+3} - V_3), & \text{if } n \text{ is even.} \end{cases} \quad (24)$$

Proof. We use the Binet’s formula of generalized Jacobsthal-Like,

$$\begin{aligned} &V_3 + V_6 + V_9 + \dots + V_{3n} \\ &= \frac{m}{3}(\alpha^3 - \beta^3) + (\alpha^3 + \beta^3) + \frac{m}{3}(\alpha^6 - \beta^6) + (\alpha^6 + \beta^6) \\ &+ \frac{m}{3}(\alpha^9 - \beta^9) + (\alpha^9 + \beta^9) + \dots + \frac{m}{3}(\alpha^{3n} - \beta^{3n}) + (\alpha^{3n} + \beta^{3n}) \\ &= \frac{m}{3}[(\alpha^3 + \alpha^6 + \alpha^9 + \dots + \alpha^{3n}) - (\beta^3 + \beta^6 + \beta^9 + \dots + \beta^{3n})] + \\ &[(\alpha^3 + \alpha^6 + \dots + \alpha^{3n}) - (\beta^3 + \beta^6 + \beta^9 + \dots + \beta^{3n})], \\ &= \frac{m}{3} \left[\left(\frac{\alpha^{3n+3} - \alpha^3}{\alpha^3 - 1} \right) - \left(\frac{\beta^{3n+3} - \beta^3}{\beta^3 - 1} \right) \right] + \left[\left(\frac{\alpha^{3n+3} - \alpha^3}{\alpha^3 - 1} \right) + \left(\frac{\beta^{3n+3} - \beta^3}{\beta^3 - 1} \right) \right] \\ &= \frac{m}{3} \left[\left(\frac{2^{3n+3} - 8}{7} \right) - \left(\frac{(-1)^{3n+3} + 1}{-2} \right) \right] + \left[\left(\frac{2^{3n+3} - 8}{7} \right) + \left(\frac{(-1)^{3n+3} + 1}{-2} \right) \right] \\ &= \begin{cases} \frac{m}{3} \left[\left(\frac{2^{3n+3} - 8}{7} \right) + 1 \right] + \left[\left(\frac{2^{3n+3} - 8}{7} \right) - 1 \right], & \text{if } n \text{ is odd} \\ \frac{m}{3} \left(\frac{2^{3n+3} - 8}{7} \right) + \frac{2^{3n+3} - 8}{7}, & \text{if } n \text{ is even} \end{cases} \\ &= \begin{cases} \frac{m}{3} \left(\frac{2^{3n+3} - 1}{7} \right) + \frac{2^{3n+3} - 15}{7}, & \text{if } n \text{ is odd} \\ \frac{1}{7} \left[\frac{m}{3} (2^{3n+3} - (-1)^{3n+3} - 9) + (2^{3n+3} + (-1)^{3n+3} - 7) \right], & \text{if } n \text{ is even} \end{cases} \\ &= \begin{cases} \frac{m}{3} \left(\frac{2^{3n+3} - (-1)^{3n+3}}{7} \right) + \frac{2^{3n+3} + (-1)^{3n+3} - 16}{7}, & \text{if } n \text{ is odd} \\ \frac{1}{7} [V_{3n+3} - (3m + 7)] & \text{if } n \text{ is even} \end{cases} \\ &= \begin{cases} \frac{1}{7}(V_{3n+3} - 16), & \text{if } n \text{ is odd} \\ \frac{1}{7}(V_{3n+3} - V_3), & \text{if } n \text{ is even.} \end{cases} \end{aligned}$$

4. Conclusion

In this article, generalized Jacobsthal-Like sequences are defined and their algebraic properties like Binet’s formula, generating functions, Simson formula and the summation formula are investigated. Some other summation formulas like sum of even and odd indices and alternating sum of generalized Jacobsthal-Like sequences are presented.

We believe that the generalized Jacobsthal-Like sequences considered in this article can be extended to generalize other sequences like Pell and Narayana and the results given in this article could be useful for further research on this topic.

Acknowledgment: The authors declare that there is no conflict of interest. This research received no external funding.

5. References

Benjamin, AT., Quinn, JJ. 1999. Recounting Fibonacci and Lucas identities. The College Mathematics Journal, 30(5), 359-366. <https://doi.org/10.1080/07468342.1999.11974086>

Badshah, VH., Teeth, MS., Dar, MM. 2012. Generalized Fibonacci-like sequence and its properties. International Journal of Contemporary Mathematical Sciences, 7(24), 1155-1164.

Gupta, Y., Singh, M., Sikhwal, O. 2014. Generalized Fibonacci-like sequence associated with Fibonacci and Lucas sequences. Turkish Journal of Analysis and Number Theory, 2(6), 233-238. <https://doi.org/10.12691/tjant-2-6-9>

Horadam, AF. 1996. Jacobsthal representation numbers. Fibonacci Quarterly, 34(1), 40-54.

Harne, S., Singh, Pal, S. 2014. Generalized Fibonacci-Like sequence and Fibonacci Sequence. International Journal of Contemporary Mathematical Sciences, 9(5), 235-241. <http://dx.doi.org/10.12988/ijcms.2014.4218>

Lee, JZ., Lee, JS. 1987. Some Properties of Generalization of the Fibonacci Sequences. The Fibonacci Quarterly, (No. 2), 110-117.

Natividad, LR. 2016. Notes on Jacobsthal and Jacobsthal-Like Sequences. International Journal of Mathematics Trends and Technology (IJMTT), 34(2), 115-117. <https://doi.org/10.14445/22315373/IJMTT-V34P519>

Pakpongpun, A. 2020. Identities on the product of Jacobsthal-Like and Jacobsthal-Lucas numbers. Notes on Number Theory and Discrete Mathematics, 26(1), 209-215. DOI: 10.7546/nntdm.2020.26.1.209-215

Singh, B., Sikhwal, O., Bhatnagar, S. 2010. Fibonacci-Like Sequence and its properties. International Journal of Contemporary Mathematical Sciences, 5(18), 857-868. DOI: 10.12691/tjant-2-4-1.

- Singh, M., Sikhwal, O., Gupta, Y. 2014.** Identities of generalized Fibonacci-Like Sequence. Turkish Journal of Analysis and Number Theory, 2(5), 170-175. DOI: 10.12691/tjant-2-5-3.
- Soykan, Y., Göcen, M. 2022.** Binomial transform of the generalized third order Jacobsthal sequence. Asian-European Journal of Mathematics, 15(12). <https://doi.org/10.1142/S1793557122502242>
- Soykan, Y., Taşdemir, E., Okumuş, İ., Göcen, M. 2018.** Gaussian generalized Tribonacci numbers. Journal of Progressive Research in Mathematics, 14(2), 2373-2387.